
| X-BarPage 1

Specifications

Part No:

Weight:

Dimensions:

Materials:

NH1297 (Chrome) | NH1297-B (Black)

1340g

585mm x 111mm x 88mm

Aluminium Alloy 6063-T4 

(Chrome / Black Powder coat)

X-BAR

NH1297 | NH1297-B

UNIVERSAL DRIVING LIGHT  BAR

Warnings

Care & Maintenance

Installation

•• Before installation, please check that your vehicle’s license plate mounting holes can carry the additional weight of an X-Bar and 

any products that you plan to mount on the X-Bar.

•• Before fitting an X-Bar to your vehicle, we recommend checking with your local Roads and Traffic Authority for suitability of this 

product and any components to be mounted on the X-Bar (such as lights and aerials) for use on the local roads.

•• Regularly inspect the X-Bar, mounting locations and attached components to ensure it is safely secured to the vehicle.

•• Never use the X-Bar as a step, serious injury may result if misused.

Prior to using  your X-bar, inspect for damage. If the X-Bar or any fittings are loose, repair or remove the X-Bar prior to driving.

Clean the X-Bar if necessary using PH-Neutral soapy water only.

Note: When mounting accessories onto the X-Bar, please ensure you follow the manufacturers installation instruction supplied with 

the product, including torque specifications.

Step 1.
•• Remove the number 

plate from the vehicle.

•• Retain all screws.

Step 3.
•• Attach the number plate to the 

X-Bar using 2 x M6 x 16 Button HD 

Cap Screws and secure it using 2 

x M6 x 20 OD Flat Washers and 2 

x M6 Nyloc Nuts.Step 2.
•• Attach the X-Bar to the 

vehicle using 2 x M6 x 16 

Button HD cap Screws, 

assemble with 2 x M6 x 20 

OD Flat Washers.

Step 4.
•• Fitment is now complete.

•• Your X-Bar is now ready 

for use.

Congratulations on your purchase of the Bushranger® X-Bar. To take full advantage of this product, please read this 
manual carefully before using. Retain this manual for future reference for installation and warranty.

Component List Qty
1.	 X-Bar

2.	 Light Spacers

3.	 M6 x 16 Button HD Cap Screws

4.	 M6 x 20 Button HD Cap screws

5.	 M6 x 20 OD Flat Washer 

6.	 M6 Nyloc Nut

7.	 Allen Key for M6 Cap Screws

1

2

2	

2

4

4

1



| X-BarPage 2

How to make a warranty claim

Exclusions

Warranty Period

Kingsley Enterprises Pty Ltd

6A Brooks Road, Ingleburn 2565
New South Wales, Australia
Phone: 1800 654 767
International: +612 8700 0400
Email: sales@kingsleyenterprises.com.au

Kingsley identified below (the Product) will be free from defects in materials and workmanship for the warranty period 
identified below commencing on the date of purchase from Kingsley (‘the Warranty’).

Kingsley, will rectify any defect in materials or workmanship appearing within the Warranty period by repairing or replacing 
the Product (at its option).

Kingsley reserves the right to determine whether the Product contains any defects in materials or workmanship covered by 
the Warranty.

The benefits offered by this Warranty are in addition to your rights and remedies under the Australian Consumer Law. 
Our goods come with guarantees that cannot be excluded under the Australian Consumer Law. You are entitled to a 
replacement or refund for a major failure and for compensation for any other reasonably foreseeable loss or damage. You 
are also entitled to have the goods repaired or replaced if the goods fail to be of acceptable quality and the failure does 
not amount to a major failure.

A claim under the Warranty must be made within the Warranty period identified below, which commences on the date of 
purchase from Kingsley. To make a Warranty claim, the Product must be returned to the place of purchase together with 
proof of purchase unless otherwise agreed by Kingsley.

Any costs incurred in making a Warranty claim or returning a Product to the place of purchase are to be borne by the 
person making the Warranty claim unless otherwise agreed by Kingsley.

This Warranty does not cover any defect or injury caused by, or associated with improper installation or maintenance; 
unauthorised service, repair, modification or alteration; unsuitable physical or operating environment; electrical supply; acts 
of God; misuse, abuse or neglect; accidental damage, or other alterations or modifications which affect the reliability or 
performance of the product not attributable to a defect in materials 
or workmanship.

The period in which a defect must appear in a Kingsley Enterprises or Bushranger 4x4 Gear product if the customer is 
entitled to claim the warranty is 5 years from the date of purchase from Kingsley Enterprises Pty Ltd.
The warranty against defects contained in this document replaces any other warranty against defects or voluntary 
warranty given in relation to the products.

Warranty

bushranger.com.au


